Family - Practice 12 Markers

Paper Family: 12 Markers
Discuss how far sociologists agree that feminism has changed marriage in modern British society.

SAM 1 Discuss how far sociologists agree that in Britain today social classes have different experiences of marriage
and family life.
Discuss how far sociologists agree that changes in the status of women in society are the main reason for the
pattern of divorce in Britain since 1945.

SAM 2
Discuss how far sociologists agree that the family has lost its importance in Britain today.
Discuss how far sociologists agree that families are the main agent of socialisation.

2019 . . . . o
Discuss how far sociologists agree that marriage is still important in Britain today.

Discuss how far sociologists would agree that families in Britain today are symmetrical.

2020 . . . . e
Discuss how far sociologists would agree that the extended family is still important in Britain today.

Discuss how far sociologists would agree that the traditional nuclear family is the most appropriate family type
in which to raise children in Britain today.

2021 . . . . . . C o
Discuss how far sociologists would agree that gender inequalities continue to exist within the family in Britain
today.

Discuss how far sociologists would agree that changes in the law are the main reason for the pattern of divorce
in Britain since 1969.

2022
Discuss how far sociologists would agree the nuclear family is still considered the norm in Britain today.
Discuss how far sociologists would agree that the main function of the family is to serve the needs of
capitalism.

2023

Discuss how far sociologists would agree that gender roles are equal in families in Britian today.
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